THRBELIRES

[ £k 234 10 A 31 H ;H/E )

1TEX 1T B X 4 B L8 gt o ATEX 17T B X 4 B LS it A [ TBIX 17T B X 4 5 % it oy
1A 84 102 186 51 201 | &7 EREp 376 408 784 299 36 |BHABEN 632 643 1,275 348
(0 1) ( 1) (—TH) 2) NniC 3 (STH) (0 1)1 ( 1)
pALUN = 375 395 770 296 202| &7 R D 668 708 1,376 564 321 | HEE— 2 11 13 13
(oo 4 C 4 (ZTH) 4) 2) | ( 6) (— T H1~4%F) (O 0 C 0
3| HTH 69 84 153 50 203 |'& /7 AR 580 581 1,161 446 322| X HE— 206 212 418 131
(O 0 C 0 (=TH) 1) 2 3 (Z T H4%) ( 2) | ( 2 4
4B 348 425 773 329 204 |8 /7 AR 493 522 1,015 395 323 | HE— 698 687 1,385 406
(O 0 C 0 (MTH) 2) 2 4 (=T H4%) ( 2) (4 ( 6)
5— /B4 68 62 130 38 211 |k 425 418 843 329 324 | HEE 396 403 799 282
(ol C 0 C o0 (—TH) 0) NI 1 (WTH1~17%4#) (0 C 0 C 0
6| —/F4 88 84 172 51 212 |kt 209 246 455 173 325|E HEE 683 700 1,383 407
(0]« 1) ] ( 1) (ZTH) 0) 0 C 0 (LT B 48) ( 1) ( 2 3
7= B4 161 160 321 106 213 |kt 282 255 537 187 326 | HE— 345 382 727 207
(O 0 C 0 (=TH) 0) 0 C 0 (RTH1~17FH#) | (. 0) | ( 1)1 ( 1)
8|&E I H 164 151 315 102 214 |k 358 376 734 295 327 | HEE = 870 889 1,759 510
(0 1) ] ( 1) (MTH) 0) 0 C 0 G RNEE="9) (O 0 C 0
9| gt H 50 40 90 27 221 | BT DOY—TH 592 612 1,204 426 328 |k HEE = 244 245 489 157
(0 1) ( 1) 0) 0| C 0 O\T B 48) (0 1)1 ( 1)
105 69 64 133 40 222 | BHITDOY T H 707 698 1,405 499 329|pk M = 3 4 7 4
(O 0 C 0 1) 2) | ( 3) (uT B 48) (O 0 C 0
11| K= 44 48 92 23 223|BHITOY=TH 853 831 1,684 608 331 | HEE — 0 0 0 0
(O 0 C 0 0) 1) | ( 1) (— T H5~8%h) (O 0 C 0
12|45 5% 106 91 197 53 231|HEE—TH 612 654 1,266 440 334 | HEE = 426 414 840 307
(0 1) ( 1) 0) 0| C 0 (MU T H18~28%!) | ( 3) | ( 3) | ( 6)
13 K& 46 49 95 24 232|HEE-TH 807 845 1,652 574 336 | HEE — 456 480 936 266
(O 0 C 0 2) 4) | ( 6) OSTH18~35%#) (0| C 0 (C 0
14 A FH 84 87 171 44 233|HER=TH 366 389 755 259 401| ERAA—TH 591 621 1,212 374
(O 0 C 0 0) 1) | ( 1) ( 4 ( 1) ( 5)
15/8A 105 80 185 53 241 | BTG — 432 442 874 270 402 ERAARTTH 0 0 0 0
(O 0 C 0 0) 2) | ( 2) (| C 0 C 0
16| P& 1% H 103 120 223 61 242 |1 T54E — 197 192 389 113 411\ KiGAK—TH 685 705 1,390 398
(0 1) ( 1) 1) 0) | ( 1) ( 4 ( 5) | ( 9)
20 i K Afh 267 261 528 181 301 | MG HH— 429 480 909 354 412 KGRk —TH 333 346 679 210
(O 0 C 0 (—TH) 0) 0 C 0 ( N, C 0 ( 1)
101 | K74 324 362 686 250 302 RIAEEH— 422 459 881 349
(—TH) ( 1) ( 2 3 (ZTH) 1) 2 3
102 | K74 2717 289 566 207 303 HGH = 542 607 1,149 437
(ZTH) (O 0 C 0 0) 2) | ( 2)
111 O&hE—TH 833 848 1,681 616 304 A GE Y =— 1Y 160 187 347 164
( 4) | ( 4) | ( 8) 0) 3) | ( 3)
M2/ 0&0ETH 473 428 901 348 M |\BFHABEE— 566 626 1,192 407
(0 ( 1)1 ( 1) (—TH) 0) 1) ( 1)
12117 —2 b 266 246 512 157 312|HAEHE 479 531 1,010 318
(O 0 C 0 (ZTH) 0) I C 3
140|LHDR 195 182 377 143 NI FAEE= 668 686 1,354 405
(—TH) ( 1) ( NI 2 (=TH) 1) 4) | ( 5)
141 | HOR 50 57 107 11 M4 BHABRE= 206 203 409 143
(—TH) (O 0 C 0 (MTH) 2) 0 C 2
142\ L H0R 351 360 711 260 5 HAREL 1,083 1,041 2,124 666
(ZTH) ( 2) | ( 6) (8 (MWTH,EZTH) 1) 0) | ( 1)
() PIANE AR SE S Th ik [ & ] B 24082 A % 24814 A it 48896 A 16,691 tH
KIZV—2 e 1F, O E— T BATBIXIZE E008, EBNTEFL TVET, ( 43) ( 77) ( 120)
SIVERAP 1, BT FATBIXISE END08, ERINZERHL TVET, [ ATAXRE ] 5 24085 A 24778 A it 48841 A 16,668 17
[ &) g 17 A X 38 A 55 A 23




